Journal of Fractional Calculus and Applications Vol. 11(2) July 2020, pp. 262-269. ISSN: 2090-5858. http://math-frac.oreg/Journals/JFCA/

OSCILLATION CRITERIA FOR A HALF LINEAR NEUTRAL TYPE FRACTIONAL DIFFERENCE EQUATION WITH DELAY

YAŞAR BOLAT, MURAT GEVGEŞOĞLU

ABSTRACT. In this paper, sufficient conditions are established for the oscillatory and asymptotic behavior of the neutral type half linear fractional difference equation with delay of the form

 $\Delta(p(t)(\Delta_R^{\nu}(x(t) + q(t)x(t-\tau))^{\alpha}) + r(t)x^{\beta}(t-\sigma) = 0, \ t \in \mathbb{N}_{t_0+1-\nu},$

based on the assumption $\sum_{s=t_0}^{\infty} p^{-\frac{1}{\alpha}}(s) < \infty$, where Δ_R^{α} denotes the Riemann-Liouville difference operator of order $0 < v \leq 1$ and $\alpha, \beta > 0$ are quotient of odd positive integers, and obtained some oscillation criteria for the above equation by using Riccati transformation technique and some Hardy type inequalities. Some examples are provided to demonstrate the effectiveness of the main results.

1. INTRODUCTION

Qualitative analysis of the solutions of fractional difference equations has received great interest during the recent years. Fractional calculus finds significant application in the fields of viscoelasticity, capacitor theory, electrical circuits, electroanalytical chemistry, tumor growth models, neurology, control theory, statistics and a review on this direction, see [17, 18, 22 – 24, 26, 31, 32, 34, 36 – 38]. Despite the qualitative analysis of solutions of many fractional differential equations, see [4, 8 – 16, 19 – 21, 25, 28, 29, 33, 35, 42 – 48] the qualitative study of the solutions of fractional difference equations is very scarce, see [1 - 3, 5, 6, 27, 30, 39 - 41]. In the qualitative study of the solutions of these scarce fractional difference equations, the various forms of the equation

$$\Delta(p(t)\Delta^{\nu}x(t)) + r(t)f(x(t)) = 0, \ t \in N_{\nu}$$

play a major role. All of these qualitative studies are based under the assumptions $\sum_{s=t_0}^{\infty} \frac{1}{p(s)} = \infty$ and $\Delta p(s) \ge 0$. The purpose of this paper is to relax these conditions and derive some oscillation and asymptotic criteria for half-linear fractional difference equation with delay of the form

$$\Delta(p(t)(\Delta^{\nu} [x(t) + q(t)x(t-\tau)])^{\alpha}) + r(t)x^{\beta}(t-\sigma) = 0, \quad t \in \mathbb{N}_{t_0+1-\nu},$$
(1)

²⁰¹⁰ Mathematics Subject Classification. 26A33, 39A12.

Key words and phrases. Oscillation; fractional order difference equations; fractional sum. Submitted Dec. 4, 2018. Revised Dec. 22, 2019.

JFCA-2020/11(2)

with initial condition $\Delta^{\nu-1}x(t)|_{t=0} = x_0$, under the assumptions

$$\sum_{s=t_0}^{\infty} \frac{1}{p^{\frac{1}{\alpha}}(s)} < \infty \tag{2}$$

and without using that $\Delta p(t) \geq 0$. Also we don't restrict to take $\alpha = \beta$. Here $0 < \nu \leq 1$ and Δ^{ν} denotes the Riemann left fractional difference operator of order ν and $\mathbb{N}_t = \{t, t+1, t+2, \ldots\}$. Throughout the paper, we assume that α, β are the ratio of odd positive integers, $\beta \leq \alpha$, p(t) > 0 for $t \geq t_0$, q(t) is an oscillating sequence satisfying $\lim_{t\to\infty} q(t) = 0$, r(t) > 0 for $t \geq t_0$, σ and τ are positive integers with $\lim_{t\to\infty} (t-\sigma) = \lim_{t\to\infty} (t-\tau) = \infty$.

The sets of integer number and real numbers are denoted with \mathbb{Z} and \mathbb{R} respectively. By a solution of equation (1), we mean a nontrivial sequence $x(t) : \mathbb{Z} \to \mathbb{R}$ which is defined for all $t \ge \min\{-\tau, -\sigma\}$ and satisfies equation (1) for sufficiently large t. We restrict our attention to those solutions of (1) which satisfy $\sup\{|x(t)| : t \ge T\}$ for all $T \ge T_x$. For our purpose, we assume that equation (1) possesses such a solution. As it is customary, a solution x(t) of the equation (1) is said to be oscillatory if it is neither eventually positive nor eventually negative; otherwise, it is called non-oscillatory.

2. Preliminaries

In this section, we present some preliminary definitions from discrete fractional calculus. We will make use of these results, throughout the paper.

Definition 1 [40] Let $\nu > 0$. The ν -th fractional sum f is defined by

$$\Delta^{-\nu} f(t) = \frac{1}{\Gamma(\nu)} \sum_{s=a}^{t-\nu} (t-s-1)^{\nu-1} f(s),$$

where f is defined for $s \equiv a \mod(1)$, $\Delta^{-\nu} f(t)$ is defined for $t \equiv (a + \nu) \mod(1)$ and $t^{(\nu)} = \frac{\Gamma(t+1)}{\Gamma(t-\nu+1)}$. The fractional sum $\Delta^{-\nu} f(t)$ maps functions defined in \mathbb{N}_a to functions defined in $\mathbb{N}_{a+\nu}$.

Definition 2 [40] Let $\mu > 0$ and $m - 1 < \mu < m$, where *m* is a positive integer, $m = \lceil \mu \rceil$. Set $\nu = m - \mu$. The μ -th order Riemann left fractional difference is defined as

$$\Delta^{\mu}f(t) = \Delta^{m-\nu}f(t) = \Delta^{m}\Delta^{-\nu}f(t),$$

where $\Delta^{-\nu} f(t)$ is ν -th fractional sum.

Theorem 1 (see[7]). Let f be a real-value function defined on N_a and μ , $\nu > 0$, then the following equalities hold:

(i)
$$\Delta^{-\nu}[\Delta^{-\mu}f(t)] = \Delta^{-(\mu+\nu)}f(t) = \Delta^{-\mu}[\Delta^{-\nu}f(t)]$$

(ii) $\Delta^{-\nu}\Delta f(t) = \Delta\Delta^{-\nu}f(t) - \frac{(t-a)^{(\nu-1)}}{\Gamma(\nu)}f(a).$

3. Main results

To obtain our main results, we need following lemmas. For the sake of convenience, the function y is defined as

$$y(t) = x(t) + q(t)x(t-\tau)$$
 and $\xi(t) =: \frac{1}{\Gamma(\nu)} \sum_{s=t}^{\infty} (t-s-1)^{(\nu-1)} \frac{1}{p^{\frac{1}{\alpha}}(s)}.$ (3)

Y. BOLAT, M. GEVGEŞOĞLU

$$\begin{array}{l} H_1) \quad \sum_{s=t_0}^{t-\nu} \frac{1}{p^{\frac{1}{\alpha}}(s)} < \infty \text{ as } t \to \infty. \\ H_2) \sum_{s=t_0}^{\infty} [k_1^{\beta} r(s) s^2 - c(2s+1)] = \infty, \ c > 0. \\ H_3) \quad \frac{y^{\beta}(t-\sigma)}{y^{\alpha}(t+1)} \ge A > 0 \text{ and } \frac{\Delta y^{\alpha}(t)}{\Delta^{\nu} y(t+1) y^{\alpha-1}(t+1)} \ge B > 0, \text{ for } y(t) \neq 0 \text{ and } \Delta^{\alpha} y(t+1) \neq 0 \text{ respectively.} \end{array}$$

Theorem 2 Assume that H_1 and H_2 are satisfied. Then every bounded solution of Eq.(1) either oscillates or tends to zero.

Proof. Suppose to the contrary that x(t) is a nonoscillatory bounded solution of Eq.(1). Without loss of generality, we can assume that x(t) is an eventually positive bounded solution of Eq.(1) (the proof is similar when x(t) is eventually negative). Then there exists $t_1 > t_0$ such that x(t) > 0, $x(t - \tau) > 0$ and $x(t - \sigma) > 0$ for all $t \ge t_1 \ge t_0$. Further, suppose that x(t) does not tend to zero as $n \to \infty$. Therefore by Eq.(1) and (3), we have

$$\Delta(p(t)(\Delta^{\nu}y(t))^{\alpha}) = -r(t)x^{\beta}(t-\sigma) \le 0, \quad t \ge t_1$$
(4)

Thus $p(t)(\Delta^{\nu}y(t))^{\alpha}$ is an eventually nonincreasing sequence. Since x(t) is bounded and does not tend to zero as $n \to \infty$, we have $\lim_{t\to\infty} q(t)x(t-\tau) = 0$. Then, there exists an integer $t_2 \ge t_1$ such that $y(t) = x(t) + q(t)x(t-\tau) > 0$ and is bounded eventually for sufficiently large $t \ge t_2$. Next we show that $p(t)(\Delta^{\nu}y(t))^{\alpha}$ is eventually positive. Suppose that there exists an integer $t_3 \ge t_2$ and a constant $c_1 > 0$ such that $p(t_3)(\Delta^{\nu}y(t_3))^{\alpha} = -c_1 < 0$. Then we have

$$p(t)(\Delta^{\nu}y(t))^{\alpha} \le p(t_3)(\Delta^{\nu}y(t_3))^{\alpha} = -c_1 < 0 \text{ for } t \ge t_3.$$

That is

$$\Delta^{\nu} y(t) < -\left(\frac{c_1}{p(t)}\right)^{\frac{1}{\alpha}}, \text{ for } t \ge t_3.$$
(5)

From (5) we can write

$$\Delta(\Delta^{-(1-\nu)}y(t)) < -\left(\frac{c_1}{p(t)}\right)^{\frac{1}{\alpha}}, \text{ for } t \ge t_3.$$
(6)

Summing (6) from t_3 to t-1, we have

$$\Delta^{-(1-\nu)}y(t) < \Delta^{-(1-\nu)}y(t_3) - c_1^{\frac{1}{\alpha}} \sum_{s=t_3}^{t-\nu} \frac{1}{p^{\frac{1}{\alpha}}(s)}$$
(7)

Applying $\Delta^{(1-\nu)}$ to the both side of (7), we obtain

$$y(t) < -c_1^{\frac{1}{\alpha}} \Delta^{(1-\nu)} \left(\sum_{s=t_3}^{t-\nu} \frac{1}{p^{\frac{1}{\alpha}}(s)} \right).$$

Applying fractional sum $\Delta^{-\nu}$ to (5), by definition 1 and theorem 1 we obtain

$$y(t) < \frac{t^{(\nu-1)}}{\Gamma(\nu)}c_2 - \frac{c_1^{\frac{1}{\alpha}}}{\Gamma(\nu)}\sum_{s=t_3}^{t-\nu}(t-s-1)^{(\nu-1)}\frac{1}{p^{\frac{1}{\alpha}}(s)}$$

$$\leq \frac{1}{\Gamma(\nu)}\left(t^{(\nu-1)}c_2 - c_1^{\frac{1}{\alpha}}(t-t_3-1)^{(\nu-1)}\sum_{s=t_3}^{t-\nu}\frac{1}{p^{\frac{1}{\alpha}}(s)}\right) = -\infty$$

as $t \to \infty$ by (H_2) , where $c_2 = \Delta^{-\nu} y(0)$, which contradicts to the fact that y(t) > 0. Hence $p(t)(\Delta^{\nu} y(t))^{\alpha}$ is eventually positive. Now, since y(t) is bounded, we can write

JFCA-2020/11(2)

 $\lim_{t\to\infty} y(t) = L \ (-\infty < L < \infty)$. Assume that $0 \le L < +\infty$. Let L > 0. Then, there exists a constant k > 0 and a t_4 with $t_4 \ge t_3$ such that y(t) > k > 0 for $t \ge t_4$. Therefore, there exists a constant $k_1 > 0$ and a t_5 with $t_5 \ge t_4$ such that $x(t) = y(t) - q(t)x(t-\tau) > k_1 > 0$ for sufficiently large $t \ge t_5$. So, we can find a t_6 with $t_6 \ge t_5$ such that $x(t-\sigma) > k_1 > 0$ for $t \ge t_6$. Thus from (1) we have

$$\Delta(p(t)(\Delta^{\nu}y(t))^{\alpha}) \le -k_1^{\beta}r(t), \quad t \ge t_6.$$
(8)

If we multiply (8) by t^2 , and summing it from t_6 to t-1, we obtain

$$t^{2}p(t)(\Delta^{\nu}y(t))^{\alpha} \leq c_{3} + \sum_{s=t_{6}}^{t-1} [p(s+1)(\Delta^{\nu}y(s+1))^{\alpha}(2s+1) - k_{1}^{\beta}r(s)s^{2}]$$
$$\leq c_{3} + \sum_{s=t_{6}}^{t-1} [p(s)(\Delta^{\nu}y(s))^{\alpha}(2s+1) - k_{1}^{\beta}r(s)s^{2}].$$
(9)

where $c_3 = t_6^2 p(t_6) (\Delta^{\nu} y(t_6))^{\alpha}$. Since $p(t) (\Delta^{\nu} y(t))^{\alpha} > 0$ and is nonincreasing, from (9) we have

$$t^2 p(t)(\Delta^{\nu} y(t))^{\alpha} \le c_3 - \sum_{s=t_6}^{t-1} [k_1^{\beta} r(s)s^2 - c_3(2s+1)].$$

as $t \to \infty$, virtue of by (H_2) this is a contradiction. So, L > 0 is impossible. Therefore, L = 0 is the only possible case. That is, $\lim_{t\to\infty} y(t) = 0$. Now, let us consider the case of x(t) < 0 for $t \ge t_1$. If we write x(t) = -x(t), as in the proof of x(t) > 0, we can prove that L = 0. As for the rest, it is similar to the case of x(t) > 0. That is, $\lim_{t\to\infty} y(t) = 0$. This contradicts our assumption. Hence, the proof is completed.

Theorem 3. Assume that H_3 holds. Further, we suppose that the following condition holds.

C) There is a sequence $\varphi(t) > 0$ which is defined on $N(t_o)$, such that

$$\lim_{t \to \infty} \sup \sum_{s=t_3}^{t-1} \varphi(s) r(s) = \infty$$

and

$$\lim_{t \to \infty} \sup \sum_{s=t_3}^{t-1} \left[\left(\frac{\alpha}{\Delta \varphi(s)} \right)^{\alpha} \left(\frac{B}{\alpha+1} \frac{\varphi(s)}{p(s+1)} \right)^{\alpha+1} \right] < \infty$$

Then every bounded solution of Eq.(1) is oscillatory.

Proof. Suppose to the contrary that x(t) is a nonoscillatory solution of Eq.(1). Without loss of generality, we can assume that x(t) is an eventually positive solution of (1) (the proof is similar when x(t) is eventually negative). Then there exists $t_1 > t_0$ such that x(t) > 0, $x(t - \tau) > 0$ and $x(t - \sigma) > 0$ for all $t \ge t_1 \ge t_0$. Since x(t) is bounded, we have $\lim_{t\to\infty} q(t)x(t-\tau) = 0$. Then, there exists an integer $t_2 \ge t_1$ such that y(t) is also bounded for sufficiently large $t \ge t_2$. Then, there exists an integer $t_3 \ge t_2$ such that $x(t) = y(t) - q(t)x(t - \tau) \ge \frac{1}{2}y(t) > 0$ for $t \ge t_3$. Hence we can find a $t_4 \ge t_3$ such that

$$x(t-\sigma) \ge \frac{1}{2}y(t-\sigma)$$
 for $t \ge t_4$.

Therefore by Eq.(1) and (3), we have

$$\Delta(p(t)(\Delta^{\nu}y(t))^{\alpha}) \leq -\frac{1}{2^{\beta}}r(t)y^{\beta}(t-\sigma), \quad t \geq t_4.$$
(10)

Define the function w(t) by the Riccati substitution

$$w(t) = \frac{p(t)(\Delta^{\nu} y(t))^{\alpha}}{y^{\alpha}(t)}.$$
(11)

Since $p(t)(\Delta^{\nu}y(t))^{\alpha}$ and y(t) are positive, w(t) > 0. If we apply the forward difference operator Δ to (11) we obtain

$$\Delta w(t) = \Delta \left(\frac{p(t)(\Delta^{\nu} y(t))^{\alpha}}{y^{\alpha}(t)} \right)$$

$$= \frac{y^{\alpha}(t)\Delta(p(t)(\Delta^{\nu} y(t))^{\alpha}) - p(t)(\Delta^{\nu} y(t))^{\alpha}\Delta y^{\alpha}(t)}{y^{\alpha}(t)y^{\alpha}(t+1)}$$

$$= \frac{\Delta(p(t)(\Delta^{\nu} y(t))^{\alpha})}{y^{\alpha}(t+1)} - \frac{p(t)(\Delta^{\nu} y(t))^{\alpha}}{y^{\alpha}(t)} \frac{\Delta y^{\alpha}(t)}{y^{\alpha}(t+1)}$$
(12)

By (H_1) and (10) from (12) we have

$$\begin{split} \Delta w(t) &= \frac{\Delta(p(t)(\Delta^{\nu}y(t))^{\alpha})}{y^{\alpha}(t+1)} - \frac{p(t)(\Delta^{\nu}y(t))^{\alpha}}{y^{\alpha}(t)} \frac{\Delta y^{\alpha}(t)}{y^{\alpha}(t+1)} \\ &\leq -\frac{1}{2^{\beta}}r(t)\frac{y^{\beta}(t-\sigma)}{y^{\alpha}(t+1)} - \frac{p(t)(\Delta^{\nu}y(t))^{\alpha}}{y^{\alpha}(t+1)} \frac{\Delta y^{\alpha}(t)}{y^{\alpha}(t+1)} \\ &\leq -\frac{1}{2^{\beta}}r(t)\frac{y^{\beta}(t-\sigma)}{y^{\alpha}(t+1)} - w(t)\frac{\Delta y^{\alpha}(t)}{y^{\alpha}(t+1)} \\ &= -\frac{1}{2^{\beta}}r(t)\frac{y^{\beta}(t-\sigma)}{y^{\alpha}(t+1)} - w(t)\frac{p^{\frac{1}{\alpha}}(t+1)\Delta^{\nu}y(t+1)}{y(t+1)} \frac{\Delta y^{\alpha}(t)}{p^{\frac{1}{\alpha}}(t+1)\Delta^{\nu}y(t+1)} \\ &= -\frac{1}{2^{\beta}}r(t)A - w(t)w^{\frac{1}{\alpha}}(t+1)\frac{B}{p^{\frac{1}{\alpha}}(t+1)} \end{split}$$

$$\leq 0. \tag{13}$$

Since w(t) is nonincreasing, $w(t+1) \leq w(t)$. From (13) we have

$$\Delta w(t) \le -\frac{1}{2^{\beta}} r(t) A - \frac{B}{p^{\frac{1}{\alpha}}(t+1)} w^{1+\frac{1}{\alpha}}(t+1).$$
(14)

Multiplying the inequality (14) by a sequence $\varphi(t) > 0$ and summing up it from t_3 to t - 1, we obtain

$$\varphi(t)w(t) \le \varphi(t_3)w(t_3) + \sum_{s=t_3}^{t-1} w(s+1)\Delta\varphi(s) - \sum_{s=t_3}^{t-1} \left[\frac{A}{2^{\beta}}\varphi(s)r(s) - \frac{B}{p^{\frac{1}{\alpha}}(s+1)}w^{1+\frac{1}{\alpha}}(s+1)\varphi(s)\right]$$
 or

or

$$\varphi(t)w(t+1) \le \varphi(t_3)w(t_3) - \sum_{s=t_3}^{t-1} \frac{A}{2^{\beta}}\varphi(s)r(s) + \sum_{s=t_3}^{t-1} [\Delta\varphi(s)w(s+1) - \frac{B\varphi(s)}{p^{\frac{1}{\alpha}}(s+1)}w^{1+\frac{1}{\alpha}}(s+1)].$$
(15)

JFCA-2020/11(2)

Get $F(w) = Mw - Nw^{1+\frac{1}{\alpha}}$ in (15) where $M = \Delta\varphi(s) > 0$ and $N = \frac{B\varphi(s)}{p^{\frac{1}{\alpha}}(s+1)} > 0$. The function F has the maximum value at $w = \left(\frac{\alpha M}{(\alpha+1)N}\right)^{\alpha}$ such that $F_{\max}(w) = \left(\frac{\alpha}{N}\right)^{\alpha} \left(\frac{M}{\alpha+1}\right)^{\alpha+1}$. Therefore from (15) we can write $-\varphi(t_3)w(t_3) \leq -\sum_{s=t_3}^{t-1} \frac{A}{2^{\beta}}\varphi(s)r(s) + \sum_{s=t_3}^{t-1} \left[\left(\frac{\alpha}{\Delta\varphi(s)}\right)^{\alpha} \left(\frac{B}{\alpha+1}\frac{\varphi(s)}{p^{\frac{1}{\alpha}}(s+1)}\right)^{\alpha+1}\right]$

which contradicts with the condition (C), when $t \to \infty$. Therefore x(t) can not be positive. Hence the proof is completed.

Example 1 Consider the equation

$$\Delta(t^{3}(\Delta^{\nu}(x(t) + \left(-\frac{1}{2}\right)^{t} x(t-1)))^{\alpha}) + r(t)x^{\beta}(s-2) = 0, \quad t \in \mathbb{N}_{t_{0}+1-\nu},$$
(16)

where $p(t) = t^3$, $q(t) = \left(-\frac{1}{2}\right)^t$, $\alpha = \frac{1}{3}$, $\beta = \frac{1}{5}$, $\tau = 1$, r(t) = t - 2 and $\sigma = 2$. Choosing $\varphi(t) = t^2$ we have

$$\lim_{t \to \infty} \sup \sum_{s=t_3}^{t-1} \varphi(s) r(s) = \lim_{t \to \infty} \sup \sum_{s=t_3}^{t-1} s^2(s-2) = \infty$$

and

$$\lim_{t \to \infty} \sup \sum_{s=t_3}^{t-1} \left[\left(\frac{\alpha}{\Delta \varphi(s)} \right)^{\alpha} \left(\frac{B}{\alpha+1} \frac{\varphi(s)}{p^{\frac{1}{\alpha}}(s+1)} \right)^{\alpha+1} \right] = B^{\frac{4}{3}} \lim_{t \to \infty} \sup \sum_{s=t_3}^{t-1} \frac{3(s-1)^{\frac{4}{3}}}{8s^3} = B^{\frac{4}{3}}(0.289\,47) < \infty.$$

Hence all the conditions of Theorem 3 are provided. Therefore every bounded solution of the equation (16) is oscillatory.

References

- B. Abdalla, J. Alzabut, T. Abdeljavat, On the oscillation of higher order fractional difference equations with mixed nonlinearities, Hacettepe Journal of Mathematics and Statistics, Volume 47 (2) (2018), 207 – 217
- [2] B. Abdalla, K. Abodayeh, T. Abdeljawad, J. Alzabut, New Oscillation Criteria for Forced Nonlinear Fractional Difference Equations, Vietnam J. Math. (2017) 45:609–618, DOI 10.1007/s10013-016-0230-y
- [3] J. Alzabut, V. Muthulakshmi, A. Özbekler, H. Adıgüzel, On the Oscillation of Non-Linear Fractional Difference Equations with Damping, Mathematics 2019, 7, 687; doi:10.3390/math7080687
- J. Alzabut, Y. Bolat, Oscillation Criteria for Nonlinear Higher-Order Forced Functional Difference Equations, Vietnam J. Math. (2015) 43:583–594, DOI 10.1007/s10013-014-0106-y
- [5] J. Alzabut, T. Abdeljawad, Sufficient conditions for the oscillation of nonlinear fractional difference equations. J. Fract. Calc. Appl. 5,(2014), 177-187
- [6] J. Alzabut, H. Alrabaiah, T. Abdeljawad, Oscillation criteria for forced and damped nabla fractional difference equations, J. Computational Analysis and applications, Vol. 24, No.8, 2018
- [7] F.M. Atici, P.W. Eloe. Initial value problems in discrete fractional calculus. Proc. Am. Math. Soc. 137, (2008), 981-989
- [8] M. Bayram, H. Adiguzel, S. Ogrekci, Oscillation of fractional order functional differential equations with nonlinear damping, Open Phys., 13 (2015), 377-382.
- [9] M. Bayram, H. Adiguzel, A. Secer, Oscillation criteria for nonlinear fractional differential equation with damping term, Open Phys., 14 (2016), 119-128.

- [10] Y. Bolat, On the oscillation of fractional-order delay differential equations with constant coefficients, Commun Nonlinear Sci Numer Simulat, 19, (2014), 3988–3993.
- [11] D. X. Chen, Oscillatory behavior of a class of fractional differential equations with damping, U.P.B. Sci. Bull., Series A, Vol. 75, Iss. 1, 2013.
- [12] D. Chen, Oscillatory behavior of a class of Fractional differential equations with damping, U. Politeh. Buch. Ser. A, 75 (1) (2013) 107–118.
- [13] D. X. Chen, Oscillation criteria of fractional differential equations, Adv. Differ. Equ., 2012 (13) (2012) 18–33.
- [14] D. Chen, P. Qu, Y. Lan, Forced oscillation of certain fractional differential equations, Adv. Differ. Equ., 2013 (125) (2012) 1–10.
- [15] C. Qi, J. Cheng, Interval oscillation criteria for a class of fractional differential equations with damping term, Hindawi Publishing Corporation, Mathematical Problems in Engineering, Volume 2013, Article ID 301085, 8 pages.
- [16] S. Das, Functional fractional calculus for system identification and controls. Berlin: Springer-Verlag; 2008.
- [17] M. Dalir, M. Bashour, Applications of fractional calculus. Appl Math Sci 2010;4(21):1021-32.
- [18] V. Feliu , JA. González, S. Feliu, Corrosion estimates from the transient response to a potential step. Corros Sci 2007;49(8):3241–55.
- [19] Z. Han, Y. Zhao, Y. Sun, C. Zhang, Oscillation for a class of fractional differential equation, Hindawi Publishing Corporation, Discrete Dynamics in Nature and Society, Volume 2013, Article ID 390282, 6 pages.
- [20] Z. Han, Y. Zhao, Y. Sun, C. Zhang, Oscillation for a class of fractional differential equation, Discrete Dyn. Nat. Soc. 2013 (2013) 1–6.
- [21] Z. Han, Y. Zhao, Y. Sun, C. Zhang, Oscillation for a class of fractional differential equation. Discrete Dyn. Nat. Soc. 2013, Article ID 390282 (2013)
- [22] H. Jafari, A. Golbabai, S. Seifi, K.Sayevand, Homotopy analysis method for solving multiterm linear and nonlinear diffusion-wave equations of fractional order. Comput Math Appl 2010;59(3):1337–44.
- [23] B. O. Keith, Fractional differential equations in electrochemistry. Adv Eng Softw $2010;\!41(1)\!:\!9\!\!-\!\!12$
- [24] M. Khan, S. H. Ali, Q. Haitao, Exact solutions for some oscillating flows of a second grade fluid with a fractional derivative model. Math Comput Model 2009;49(7–8):1519–30.
- [25] AA. Kilbas, HM. Srivastava, JJ. Trujillo, Theory and applications of fractional differential equations. Amsterdam: Elsevier; 2006
- [26] JR. Leith, Fractal scaling of fractional diffusion processes. Signal Process 2003;83(11):2397– 409
- [27] W. N. Li, Oscillation results for certain forced fractional difference equations with damping term, Adv. Differ. Equ., 2016 (70) (2016) 1–9.
- [28] WN. Li, Forced oscillation criteria for a class of fractional partial differential equations with damping term. Math. Probl. Eng. 2015, Article ID 410904 (2015)
- [29] WN. Li, On the forced oscillation of certain fractional partial differential equations. Appl. Math. Lett. 50, 5-9 (2015)
- [30] S. L. Marian, M. R. Sagayaraj, A. G. M. Selvam, M.P. Loganathan, Oscillation of fractional nonlinear difference equations, Mathematica Aeterna, Vol. 2, 2012, no. 9, 805 - 813.
- [31] A. E. Magdy , A. S. El-Karamany, Theory of fractional order in electro-thermoelasticity. Eur J Mech A/Solids 2011;30(4):491–500.
- [32] A. E. Matouk, Chaos, feedback control and synchronization of a fractional-order modified autonomous Van der Pol–Duffing circuit. Commun Nonlinear Sci Numer Simul 2011;16(2):975– 86 [Original research article].
- [33] S. Ögrekçi, Interval oscillation criteria for functional differential equations of fractional order. Adv. Differ. Equ. 2015, 3 (2015)
- [34] YZ. Povstenko, Fractional radial heat conduction in an infinite medium with a cylindrical cavity and associated thermal stresses. Mech Res Commun 2010;37(4):436–40.
- [35] P. Prakash, S. Harikrishnan, M. Benchohra, Oscillation of certain nonlinear fractional partial differential equation with damping term. Appl. Math. Lett. 43, 72-79 (2015)
- [36] G. Rudolf, M. Francesco, M. Daniele, P. Gianni, P. Paolo, Discrete random walk models for space-time fractional diffusion. Chem Phys 2002;284(1-2):521-41.

- [37] J. Sabatier, M. Cugnet, S. Laruelle, S. Grugeon, B. Sahut, A. Oustaloup, JM. Tarascon, A fractional order model for lead-acid battery crankability estimation. Commun Nonlinear Sci Numer Simul 2010;15(5):1308–17.
- [38] B. Sachin, D. G. Varsha, Synchronization of different fractional order chaotic systems using active control. Commun Nonlinear Sci Numer Simul 2010;15(11):3536–46.
- [39] M. R. Sagayaraj, A.G. M. Selvam, M.P. Loganathan, Oscillation of Caputo like discrete fractional difference equations, IJPAM, Vol. 89, no. 5,2013, 667 - 677.
- [40] M. R. Sagayaraj, A.G. M. Selvam, M.P. Loganathan, On the oscillation nonlinear fractional nonlinear difference equations, Mathematica Aeterna, Vol. 4, 2014, no. 1, 91 - 99.
- [41] A. Secer and H. Adiguzel, Oscillation of solutions for a class of nonlinear fractional difference equations, J. Nonlinear Sci. Appl., 9 (2016) 5862–5869.
- [42] D. G. Varsha, B. Sachin, Solving multi-term linear and non-linear diffusion-wave equations of fractional order by adomian decomposition method. Appl Math Comput 2008;202(1):113–20.
- [43] Y.Wang, Z. Han, S. Sun Comment on 'On the oscillation of fractional-order delay differential equations with constant coefficients' [Commun. Nonlinear Sci. 19(11) (2014) 3988-3993]. Commun. Nonlinear Sci. Numer. Simul. 26, 195-200 (2015)
- [44] Y.Wang, Z. Han, P. Zhao and S. Sun, On the oscillation and asymptotic behavior for a kind of fractional differential equations, Adv. Differ. Equ., 2014 (50) (2014) 1–11.
- [45] S. Xiang, Z. Han, P. zhao and Y. Sun, Oscillatory behavior for a class of differential equations with fractional order derivatives, Abstr. Appl. Anal., 2014 (2014) 1–9.
- [46] J. Xiaoyun, M. Xu, The time fractional heat conduction equation in the general orthogonal curvilinear coordinate and the cylindrical coordinate systems. Phys A: Stat Mech Appl 2010;389(17):3368–74.
- [47] J. Yang, A. Liu, T. Liu, Forced oscillation of nonlinear fractional differential equations with damping term. Adv. Differ. Equ. 2015, 1 (2015)
- [48] B. Zheng, Oscillation for a class of nonlinear fractional differential equations with damping term. J. Adv. Math. Stud. 6, 107-115 (2013)

Yaşar Bolat, Faculty of Arts and Sciences, Kastamonu University, Kastamonu, Turkey $E\text{-}mail\ address:\ ybolat@kastamonu.edu.tr$

Murat Gevgeşoğlu, Faculty of Arts and Sciences, Kastamonu University, Kastamonu, Turkey

E-mail address: mgevgesoglu@kastamonu.edu.tr